Score: Name:

ECE 3055 Quiz - November 7, 2003
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eax C.\l\ selecting the next process to run from the ready queue.

2. In a multiprocessing OS, what prevents a user application from staying in the run state forever
(explain)?
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3. Explain the problems that would likely occur with I/O devices and operations, if there was not a
hardware mode bit with privileged I/O instructions in a multiprocessing system.
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4. List the three most important hardware features needed solely for protection of the CPU, /O
devices, and memory in a modern multiprocessing OS (explain each briefly).
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5. Would a long I/O bound job on a system with no other processes active in the system likely spend
more time sitting in the ready queue, running, or in the wait queue (explain)?
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